EREFEHER, RFEH FFN64FES A 1 H R AR

<zpimims
e e 20215%E 20226 20235FE =
S |mmrasn) 321 263 195
T
%
= & W R E 9 15 5
== #
X &
%‘3 e TEEEEH(A) 214 194 163
R 7
X
& UG ERRYEL 2 6 6
£l
EEZEH(A) 535 457 358
WSy ERR S 11 21 11
=
;E EEZEH(A) 203 212 201 |iEtaiEs ¥ 1y RAEE 114
5
= Y FEORPEL 4 5 6
] R nr s
~’ T EEEZEH(A) 325 328 311
A o
i F ]
F & WS R E I 7 17 8
%‘ TEEELEE(A) 244 222 214
A
5 LSRR B 0 4 5
)
EESEH(A) 72 762 726
sy RN R S 11 26 19
*t
? EESEH(A) 15
15
%
BR WY EEREEL 1
x
EESEH(A) 15
sy RN R S 1
EEZER(A) 1,307 1,219 1,099
Ftsmpg A
sy RN R S 22 47 3]




<{E1:Riz - BT RIHAERIE>

%A FI 20215E 20225 20235E
L |[EERERA) 2 4 4
T=
ox i e s
@ = W ERLRPE 0 0 0
b
o 8 TEEERER(A) 2 1 1
# E%ﬂ:
5 UERSRPEN 0 0 0
TEEEFERB(A) 4 5 5
UEERYEY 0 0 0
m B |[TEEREMA) 8 17 17
*4 j % é EZEEJ&%%%& 1 | 0
TEEEFER(A) 18 17 17
W ERSRSEN 1 1 0
TEEEFEB(A) 22 2 2
@iﬁﬁfﬁﬂ%ﬁﬁ
L EESRYEY 1 1 0
<f#tigHAsRE >
%A 0 20215E 20225 20235E
II:.\ -
| i TEEELER(A) 1 1 1
vy Tia
e 55‘?
4 BR L FELRTEN 0 0 0
IEBRER(A) 1 1 1
W ERLRSEN 0 0 0
IEEELER(A) 1 1 1
BHgHERE A
W ERLRSEN 0 0 0

[E]
1 REIEUT, EERIEFEREBAL ARRHIEREBEA TEEAL TS,
2 BREBRHL EEFEICEREVEIRTOHRZEEALTHY . GREEICIIREREZST,
BEH. 2022FELEIICOVTII S FERFER L. HRFESB1BUBRFEARITISRFNMRELVZEDHESLALTVS,
3 iR BETEAUTCVWSEFIRAFEICH O TIL FRC &SRR - BHAIC O T TERL TV 5,



